Gal 628 Groundmass Concentrate (68407-01)
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Gal 628 Groundmass Concentrate (68407)
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Gal 3029 Hornblende (68409-01)
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Gal 1148 Biotite (68307)
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Gal 1148 Biotite (68307)
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Gal 1032 K-feldspar (67800)
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Gal 1180 K-feldspar (68309)
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Gal 464 K-feldspar (68408)
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Gal 575 Richterite (68411)
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Gal 575 Richterite (68411)
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Apparent Age (Ma)

Gal 31 Hornblende (67799-01)
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Gal 31 Hornblende (67799-01)
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GAL 1182 Biotite (68308-01)
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GAL 1182 Biotite (68308-01)
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Gal 1017 Hornblende (67798-01)
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Gal 1017 Hornblende (67798)
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Gal 1017 K-feldspar (67797)
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